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: aume.s:-m being dapleted at a faster rate than ever beforel We have o
e of the workd as a whole towards a more sustainable fitore. Th give us an

of chm e Generil Assembly of the United Natione has anounted its

davel ment Goals describe the framewnrk of our eommon global
s & ey position.

}nﬁm -Ji:h_fé_uit_tﬁm:.. In u traditional sense they help to
ull for & job market with both intrinsic and instrumental
n sustainabie development 7 Ite purpose s transformative
68 worldview, make one queation unsuatainability’, and
al I 25 and be acrommodated inte s global sy=iem.
_Mqam;egrntmgthz “future’ g a specific dimension

e g ild & sustainable future must play = central rolo in

e Y e g mﬁfﬂaﬁ' Boen a5 global capitalizm, has an

L ﬂ?-li-' il d,'rlm e livein & highly interconnected and interdependent

e =-|-.:.1 T:::;ﬂ'“a lqaagi Wﬁbﬂﬂmﬁm are global in nature and require cosperation
; o vone able develapment suge

i u-.-rrnimg{ i & e we-have to see oarselves as 'sitisons’ of
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ations ‘Agenda 2030’ ?

7.  What is the roje of Education
nl sustai
@) Education will dﬁv&lﬂp ] g development 9
mu
over the worlg tiple Competencies for sustainahb
nable development arg
(b)  Educat Ong people all
ation will provide 1
€ books to read on «
(c)  Eduecation will : ustainable development
0 will increase the loh ;
(d Ed Sl
ucation will reduce ;
€ interdependence of the people
8. ‘We live in a hi :
ghly interconnected : :
and interd : _
passage ? ependent world’. What does this phrase mean in the
(a)» We are now m
ore
connected and dependent upon each other for our survival
(b) =~ The means of transport have become faster
(¢) We have become dependent on other countries
(d¥, We are facing challenges from globalization
9. “The world's life-supporting resources are being depleted at a faster rate than ever before!’ What does
this phrase mean in the passage ?
(a) Today we are facing an acute shortage of food products
(b) Medical health systems are deteriorating at a fast pace
(¢) The natural resources necessary to sustain life are reducing drastically
(@) Human life is becoming more dependent on the support of technology
: - Ttizenship’ because
10. ‘Th . gn increasing recognition of the importance of global citizen hip' b
L] EI'E ls 5 f
to travel more and live in different parts of the ™ orld
o Lra s | A :
2 e e 1] over the world to face the challenges of the 217 centiny
. . Eﬂple from ail ov :
(b) It will unite p . : L
: : foreign cou
: here is a future 10 | 1 dieacters
(c) Pﬁﬂple hEhEvE 2} t to save thmn:-‘ﬂlvez: from matumt disas
. erate with each other 10 5¢
(d) PE’DP]E will COOP
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The first qn.; .

: 1 wences of a passage. nd

? - In the following five items, each tem OOPSEaLH O] BEE S.:mnfé's in between S1 and Sg in o _
Directions : n.. te following ming as S1 and S6. The four se St Lt e i eh i ls
Serfenees are f;uerz (il fff':f beﬁ’mr;:jgbtﬂed 2 PQR and S. You are require ‘S‘Hem{r S

- 3 - f a > . 1 ; Et.
guestion have been jumbled up an T R e tier
of the four sentences and mark your response accordingty

nds skill and judgment.
; ' i hen properly done, dema . | |
11. SS; . I{j::;?::ir:;imi:e th:n to believe that a field geologist should gather only ‘fy cte ¢

he

5 u " " Iatﬂr dat’e'

interpretation of which is to be made at a : L : -

P: While the field work progresses he should conceive as many interpretations as are cunsmtem .[
with the known facts.

Q: As the field work progresses and the larger geological picture begins to unfold, eXperience ay 15.
Judgment are essential if the geologist is to evaluate properly the vast number of facts
gathered from thousands of outcrops. i

R: Such mapping requires keen observation and a knowledge of what data are significant,
S: Above all, the field geologist must use the method of

“working multiple hypotheses” t; dedug
the geological structure.
(@)  SRQP (b)" RQSP (¢) PSQR (d) SRPQ
12. S1: Under the colonial regime, basic infrastructure such as railways, ports, water transport, posts
~ and telegraphs did develop.
S6: Nﬂturauy, therefore, th

ese areas remained inaccessible to the people.
P: There always remained an acute shortage of all

-weather roads to reach out to the rural aress o

(a),

resp

Roads constructed in India prior to the advent of British rule were not fit for modem resp
port.

R: Howaﬂver, the real motive behind this d

_ evelopment was not necessarily to provide basic 16.
ﬂmﬂﬂlt“ﬁ to the people but to subserve v

| arious colonial interests,
S: The madgthgt were built primarily served the purposes of mobilizing the army within India
and drawing out raw materials from the countryside to the nearest railway station. 17.
(a) SPQR (b) PQSR (¢) QPRS (d) RQSP
13. s1: Cﬂhtelilpomry history is necessary,
S6 : : :

urity. 18.
PoRsesces, indheg ; portion is significant
o o482 Of oliticiang g, of oELY. O PUBLC record, but B anly Jacks thp i 19
break-throughs » of planners Proposals, of scientists’ discoveries, of technicians 19-
R: Tt alsq lacks
S: It is § mmssﬂz’;s::::l:g :n:cf: 8 bereft of a4 sense of proportion
various eventg, gres K nbseﬁ&ﬁﬂﬂ,_ to estimate accurately the significance of 30
(a) QPSR (b) SRPQ
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R : They iiseg tote o S are not really Progressive with regarq ‘o
NEINeer f T iTlL"D
S: They are even less « ed to bring into the tax net the enorm i
0us sums of ‘misging’ i
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(a) PQSR
(h)
QSPR (¢) QSRP (d) SRPQ

Sl The hlamr}r of’ En
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R : Scholars often iali
y specialize 1 : :
Ze 1n periods such as Medieval, Renaissance, Romantic, Victorian, and

Modern literature.
S: Failure to detect these di e
S €se discontinuities often produce a false sense of uniformity and consensus
(a) PQRS (b) RQPS (¢) PSQR @ RSPQ

frecﬁnns : In the following five items, each item has a sentence with three underlined parts labelled as
a), (b), and (). Read each sentence and identify any error in any underlined part, and indicate your
nse on the Answer Sheet against the corresponding letter, i.e. (a) (b) or (ci. If you find no error, your

esponse should be indicated as (d).

Ramesh liked his friend’s music player to his own. No error
(a) (b) (e) (d)
Given the qﬁmﬁ_li;;:--:‘nf’the problem the committee is not expected
(a) /)
to ari'i?e-ai: a decision any time soon. No error
S i (c) (d)
navigated around the Dal Lake. No :;_u[

on a visit to Srinagar circum
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and ¢ . Rani ¢ Con
ft FenhnuGy the f‘l ghE Niam .]pﬂ"m“ of | 25
aiter the R 1ght : 2 of K « Whig} -
1824 9 ani's capt gﬂlngt the ittuy i 1 ‘of  the foll
apPlure 2 s OTrect i o
: e by the Hr.l?:ntlﬂh ) & m‘r'} OWIng  statements are
(a) Rayan itish ~ Under the
b 5 districts were Ofiwallis  System, the
(b)  Tipu Garo Police ,'!Uriqd{r:':wmm into thanas or
oy : OTLE b g
(c) Jagbﬁ]'ldhu s S(juare, g of 20- 20 miles
: Each of
(d) D : them was place
ukaribala Dev; {:ITEW o ““"**fﬂtu:a}n‘:,md m;dm -
Mominati AL, unde :
22. The First India in q = dln'lt.mn of daroga. r the
I ﬂttﬂt‘lpg - aroga Hy::;.q_p_m W :
1881, dealt primarily with : Act, passed in 4 Madras in 1812, SSSttoduced. a0
{ﬂ} W{)mEnl v The dﬂrﬂg{; Was nomi
abour district magistrate mated by the
[h} Li“u"in . 'i_:l‘ l. o ;
g conditions of f e Yo '
aﬂtﬂr}r WO I']E] ' ANSWer LSITE th“ code give
(¢)  Child labour s 4l Etven
(@  Texti fa) 1and2only
extile workers (b) 2.9 and4
(c) 1.3
23. w-hErE wﬂ § 5 E:'lnd 4‘
s Aza i .
d Hind Fauj (INA) formed ? @ 1,2and4
(5} Singap[}re 26 Model
. odel 5 i 5
(b) Tokyo Indus H’Landmg Orders formed under the
Tt Ubt-["lal Em‘pl:}}'ment [Etﬂnding Grdﬂfﬂli
‘ A ‘ 5
(¢c) . Berlin | . i ct, 1946 shall not apply to an establishment
n respec ; ‘h :
(d) Rangoon gspect . of which the Appropriate
Government is that of the State of :
£l ﬂﬂl] L IE L)
24, In 1927, Lord Birkenhead, Secretary of State : Madhya Pradesh
. : : (b)y Gujarat
for India, appomted a Committee of three IR
: ' . : : . (¢} Kerala
members to enquire into the relationship
. e (d) West Beng:
between the Indian States and the British st Bengal
Government and to make suggestions for | 27. An ‘out-worker’ is expressly axcluded from the
more satisfactory adjustment of the existing definition of «orkman’ under which one of the
i s Yecielations 7
economic relations between the Indian States following legislations :
A f . : The Factories Act, 1948
and British India. Who among the following & 1S Ty 1951
¢ the Committee 9 () The Plantations [.abour Act, 19
was ﬂﬂt a ﬂ]E!I'ﬂbEI* 4] . !-E} ThE [_‘ﬂl'ltt'ﬂl:t f_,;’l.l'.H]HT l'HE.!HUIﬂﬁ'[:'" ;‘L[]{]
(a) Harcourt Butler Abolition) Act, 1970
(b) AJ Wilson d) The [nter-State Migrant 1"""”"3""“"1':
B {Hli'gl.lful,ifm of Employment &t
(c) W.S. Hnldswm'th (‘onditions of Service) Act, 1979
d) S.C. Peel
(7-D)
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29.

shall not he ta.: L
@

Appropriate

. of work
N into account while the

G
Overnment considers

Process, opera tio

incidentg] ¥ ORiSEAeE Work =

to or n
industry PFESEAY or. the

(b)
(c)

The 15
work is of a Permanent nature

The work is done nrdinari]y
regular workmen

The work is of intermittent nature

through

(d)

Which of the statements relating to the
Grievance Redressal Committee under the
Industrial Disputes Act, 1947 is nof correct ?

31.

32.

(a)

(b)

(e)

(d)

Under the provisions
1943, a Safﬂt-}' C
in a factory where :

(a)
(b)

(c)
(d)

It shall consist of equal number of
members from among employer and
workmen.

It shall be constituted in an industrial
establishment employing twenty or
more workmen.

The Chairperson of the Committee shall
be nominated by the Appropriate
(Government.

The total members of the Com
shall not be more than six.

34.

mitiee

of the Fa{:t.ul"'iEE Act,

ommittee is to be cunstituted

d
1000 or more workers are employe

or
S gubstances are used

Hazardou

handled

Emp]ﬂyﬂd

Heavy machinery !

workers are

500 or more (8=D!
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The eight-digit number 789459xy is divisible
by 88, where x and y are digits. What are the
possible values of x and y ?

(a) =x= l, yv=2
h) x=9 y=2
(e) X=d, ¥y=6
d) =x=4 =
If x is the smallest natural number that is

divisible by both 24 and 30, whereas y is the

largest natural number that divides both 36
and 100, then what is the value of x -y 7

(a) 116
(b) 124
(e} 128
(d) 132

What is the digit in the unit place of 02'® 5

(a) 2

(b) 4

{c) 6

d) 8

A runner completed a 40 km race in 3 hours.

She changed her speed after completing each

quarter of the distance such that the

proportion of the speeds in the f?rst.
er. 18 gIVen

second, third and the fourth quart
by2:3:4:0 respectively. In how o
then {appmximatﬁly} did she complete the

':IU.':-‘h tj“.l‘..

last quarter of the race ?

(a) 32 minutes
(b) 31 minutes
(¢) 29 minutes
(d) 28 minutes




Mﬁﬂw 459x 5
08, 31 A (P ik seare) sifufem, 1970 | 31 :;xmyaﬁ%?a LN
¥ anfi, wafs gy wwer e o H # 9 %t”“‘-a;
31 49 & e #) 0 1 faan = e Whin
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Rrerr st afif & waf s o | L2 s
YT Hel 75 2 0 (c) 128 T:}
@ il ot sl & e e i | s P In
) 1
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(b) %@ﬁﬁﬁiﬁmﬁ,ﬁﬂ?ﬁﬁﬁm iy (a) 9 {u)]#ﬁph’lﬁf
e FAewR Frifom €, nfsa anft | 0 4 g (b
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g5, If there are enough

pay ¥ 10 ? " Ways can one
(a) 8

(b) 9

(el #10

(d) 11

36. Which of the following

18 included in ¢t
‘Cost of Inventory’ e

according g Accountin
4
Standard-2 (Inventory Valuation) -
(a) Administrative overheads that do not
contribute to bringing the inventories to
their present location and condition

(b) Storage costs which are necessary in the

production process prior to a further
production stage

38,

F ‘onsider the

D —-ij{itl{}“ritlg information :

ate ' ]1.:7_'__"__"_'

_ Articwlars’ | Upite | Rase

fen |1 Ars | Units | Rate per
: | lunit(|

January 1 Inventory in | 200 | =

—— | hand ‘| | I|

EULE bl |
ii_ﬂ_fll'_ur.&'_a_ -l—'[ﬂ]“:hﬂﬂﬂ_!-{._ ]_Hnn—.li L _H - !|I
January 25| Purchases | 300

: ST e 39. Following is the information relating to a club
() EeihiEEend daabution conta for the year ending 31.03.2022 :
(d) Duties and taxes paid h‘;n p]:chaﬁ"?:’ Subscription outstanding as on < 16,000
subsequently recoverable y the 31 03.2021
enterprise from the Tax Authorities Subscription outstanding as on ¥ 18,000
31.03.2022
7.  Following is the trial balance of a firm as on Suhguriptﬂigﬂz E-leweﬂ in advance ¥ 12,000
i _ as on 31.0a5. :
31.03.2022 : | Subscription received in advance % 11,000
 Trade receivables < 2,50,000 as on 31.03.2022
Trade receivab B! &l
Provision for discount Z 14,000 There are 70 m;“; : ;Eml] Total subscription
| : _ bseription of < 1,UUU. st
to debtors 8t : . o araamar — 922 will be :
Esnﬂunt to debtors |? 4,000 received during the year 2021
- ; : : 0
e ot allowed to debtors during (a). ¥ 67,00
Additional discoun . The firm has a policy of (b) ¥ 71,000
: i iy nu ; e
the year 18 T 20, sovision’ {or discount 1o (@) % 69,000
=13 a ;
mmmmgal to 10% of the Trade Recewabieﬁst (@ T 177,000 !
] A
feptors 52 t to be Chﬂl’EEd 4 Pﬁ,] : fraud 158 10 be made b h
balances. Tﬂtﬂl amoun oar ending 40. Reporting on e vernment when the
4 Loss Account (for i d provision auditor to the Centra’ = -
% 3.2022) for discount alloyred AR sums involved 10 the fraud :
31-0 . 11 be: oed = 90 lakh
: ¢ created Wil P (a) exceed® =
for discoun 2 ) exceed ¥ 50 Ink:1
(a) g0 (c) exceed T 75 lak 1h +
by ¥ 13,000 d) are¥l crore or abv
00
@ T90
=38))]
@ ¥ 33000 (11
___ e
BNYR-U-GAT —— _*.-fﬁ"i. |

 E— 1]
= : Lo I [T T
canuary 6 | Issued for sale it 1.!15!...11__ 1'

|
‘_l.'l.fhmh one of the following iz the value of
inventory on January 31 under perpetual

inventory system using First-In-First-Out
(F1IFO) method ?

R ey i

(January 9 | Issued for sale | 200 _L

(a) 6,700
(b) ¥ 8700
(e) T 10,700
(d) 12,000
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35. ﬂﬁ?i,fzaﬂre*ﬁaiﬁﬂwwﬁ _‘"“%\;&
&, @ # =aftp ¢ 10 H1 YA S =1 S
T wmwmme,  — 55 LT P
(a) 8 K - ® 11 _'_—_“‘“—h-h_q_'__h_h I h\ F o
LU T r_; 2_‘{’ g &) Im :j W—_‘“‘——EE ﬂkﬂx‘i pay
(c) 10 & @;?;/z i B e 11{]0 ! (a)
@ 11 e | 25 S g‘;\mﬁmﬂ i
36. TAGWHFD .0 (wrerget wea-frafor) ® 2 mm ()
' &l 9 FFa lﬁﬂ%ﬁ:ﬂ{ﬁﬁﬁmxﬁ (d)
IR Fofafgs § @ wa Sege ‘ T e L2
Gl g ﬁ' W % ? ﬁmﬁﬂ%ﬁ ﬁ EFE':[—HT l';'iEﬁ? %ﬁm\u\ 36. Wh
o : , : SE% (FIFO) ':g'l%r_a;r ST 3 Sl G,
ﬂﬁaﬁnmmﬁﬁamamﬁaﬁﬂ#ﬁ AT o aﬁﬂaﬂ?ﬂﬁaﬁ Sta
@?ﬂ' g i E\(‘r’iﬁl‘ % : '||{4 ey % (a)
ST =0T 7 qre) ATV 2 (b) ¥ 8,700 e
© 1559 3k famor g I ¥ 10,700 Y W (b)
) T GH T 5o s = d  F 12,000 Tﬂ.ﬁ
Hﬁwmwmﬁwﬁﬁﬂaﬂ?ﬁmg 39. 3103.20223ﬁmﬁ€?3ﬁ3ﬁ% . i)
¥4 9 gafyg = ﬁqﬁ"lﬁﬂﬂ &'”l“ﬁ (d)
37. 19 % Sfyam 9 31.03.2022 I Furfeafy o R
WY err g 3. 31.03.2021 St FHRYT vy i
[Wm o ! = 31.03.2022 i BT w7 i P
TR B o fora i 21.03.2021 %1 510 atfym Sq T 19,0 31.
— ern & T o
— . 4,000 : 11,00 | Tr
T gy [ 4,000 ] 70 HTET H |y ¥ 1,000 afifes w7 33 | Pr
NG T o P AEIRIm s |
< 20,000 % I Eﬂ%‘amq #i Hfy %Flaﬁ = agaif (a) = 67,000 o Q\G L | Di
IETQ MR 127 S 351 1055 IS Ty b)  z71,000 WX o
? e s et T 3k &+ (¢) =g9 N -={‘~ theﬁ
9T & foro fepu ,000 \ .
Y % %I'Q iy e mai
et ST SR R ey q Ty e d) = 77000 ' debt
43 oy e 1032022 ) g & o
) f5aeht 2y 40, ﬁm‘}ﬁmqﬁwmmqqmqﬁm and
(a) ¥ 25,000 F;T?'T:ﬁ Th3y Hfafeg FAC] W, %z g # ?1.{}:
(b) = 13,000 | ST Brar 20 or d
© %9009 ff:; ¥ 2091 ¥ aifir :2:
T 50 ey
@) =33 500 ) = yE S (c)
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41. A train of length, 400 m tal I ,,:}D L (eQ
4 akes 15 & =
CTOSS & train gp SeCongdg A4 Al
60 k ength 300 travely; i mu;;m:! ® 100 students and every student
™ per houy from the of “ingat m]mm-._;tﬂr.r tcr;rkm, or football or both. The
POsite A i SWtlents f telent 15 bwico
along a paralle] gy, What i DA Ao, b of ﬁtuJ=E11{ia“&:i:fr1;:11:;t footbal
. o - 1 LR,
the longer train_ i, 1o © the speed of cﬁH::.;;-:,"t thy mber of students who play only
:n Peplan who -p;.a: rEelhmﬁH the number of students
(a)= 5108 A\ students who piay bt o, e, umber of
% I 9% G therefore - ® play both cricket and foothall is,
(b) 102 : IS =
SA PAS -
L }X’ 5 e (a) 30
() 98 = ¥ (b) 28
? (€ 25
@ 96 Lo )
(50 5 dy 20
g |
49. There i ; |4
42. ere is a water tank in the form of a|

A man walks in a certain direction for 5 km
and then walks in the south direction for
4 km. If he ends up in the east direction with
respect to the starting position, how far is he
from the starting position ?

rectangular parallelepiped of height 11 m
and a square base of side 2 m. If a full tank of

water is drained out completely in a long pipe

(a) 2km
of circular cross-sectional area of radius 1 cm, (b) 3km
(¢) 4km
inimum length of the
what should be the minimu gt e

it 7
~

pipe, in km, to hold the entire water i&r

27 The beneficiaries under the Integrated Child
(Take n =2

Development Services (ICDS) Scheme are

5 19 .Fmbﬂf‘?l {  children in the age group of :
(a) 1’55 o\ [o% (a) 0-—6 years
(b 13 uxid (]2& (b) 0-3years
: | & .4.-«-'@ & "-‘6 (¢) 3-—6years
(c) - ¥ '/\.ﬁ }g : ) 6~ 15years
o o 47. Which of the i{;llnwi:i E::.'i}tements about
& i or i in *jafare C .
;ﬁiﬁ A pe reon buys ten pens and eight pencils i fﬂ"m:ng vegetables around urhaﬂ[
. . ch pen is samé and price of I Gf n::ﬁgm meet the daily demand 0
T 200. Price of each pe b e bt cm]-:h; Soe Truck Farming. X
- g ay 2 . I_f he co peo  the ﬂi'—itﬁn‘:e a truac
] neil is same. : ] ‘ .. aoverned by the dif farm
g pB nd twent}'-four F’Eﬂmlg o & ::Fu!lbczi'er overnight between the
T amount, then what I8 ~nd the market. - the code gIVeD
. e ¥ . 5111
I e e : 7 Select the correct answer Ust &
£ en in rupees - low :
e price of each p below :
SEE (a) 1only
l.:a} T 16 (b) 2 only
{h] =156 () Both 1 and 2 )
(d) Neither 1 nor =
@ <13 (13-P)
BNYR-U-GAT
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g
108
102
98

96

(a)
(h)
{c)

(d)

42. FHHIH GHTaIHe & AHN h, 1-1 H
Fug R 2 i g & af v arefl, T
9 H ZH R | AR 7w I O R @ o A

P
o5

fopelt Frerer & 100 fanefi § o
mﬁlﬁzmwmfﬁiﬁ%ﬁh
gery are fEfdal i dey
fererfefal A1 @A H g
frpe @od arel  ferenfu A

3

o i

6
etz )
o 42

iy

45. I =aftr v o= fawn & 5
3R a9 afeqor femm o 4
ﬁ%ﬁﬁmmm%
oH gl fewm #@ R, A oag gy

W 8 R g g gt 1 ddder e F ferafi g & 2
i 90 @ frifi @ fean s, @t 3w @R e 3 et Ml
HI U FW F e afrer B =Ea e ::; ;Fﬁ"h‘ﬁﬁ
hSTHIET & Bt =R 2 (n = 20/7 chivra) =
(a) 12 2 o {liiiifiwmﬂmﬂﬂﬂﬂnﬁw%m
3 J aeefl b sy i F = AnE,
(b) 13 (@) 0-6 39 |
e — TR g
@ 15 LA -} -
%ﬁ%&ﬂ@ﬁ*fﬂ 615 4

43 Hﬁéwﬁsmmaﬁtmﬁ%ﬁ%zmﬁ

47. ‘iﬁ?ﬁ’%?ﬁﬁﬁﬂﬁi@ﬂﬁﬁ#ﬂa
HY U B/E 9 .

L. @ i -
o I T R R e
R e e e S Fhwm § ) |
wﬁwrm,ﬂmmﬁgﬁﬂ 2. ¥R 38 gt % amum w R i i
/(a/l' T 16 .QQ bt M“t)?.g%.? e ?;ﬁ};{?ﬁmﬁﬁgﬁ%aﬁﬁw
(b) =15 gtpﬁh TIQ}@ML ﬁﬁﬁqmﬁg;ﬁ;ﬁ?ﬁimﬁ
T 14 ..,_ﬂf”" 2 [« Eﬁf 2:!-:[;
@ 13 (- © 13K 23
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53. Consider the folloy;

3, Smt&mnt . ng 3tatﬁments
A vrary Strong yg
credit.

Statement [ .
Many Countries 4n4
America borraw ; in Dollars,
Which of the following is correct

the above statements ? e

(a)

‘OMmpanies  outside

Both statement |
and statement 1
correct and statement S

I1 is the correct
explanation for statement |

Both statement I and statement 11 are
correct and statement I is not the
correct explanation for statement |

; . -:%ﬁmem I is correct but statement 11
‘| ~ is incorrect

h: u‘# .ﬁéf,,."

’tament 1 is incorrect but statement
| '.|'F3F ect.

g Q en&md the Jute
'@oml‘wlﬂﬂ” Upei®

statement 11 are
1 lis the correct

rect tement
" explanation for 5t ¢ 11
: men
(o Statement13
' t
is incorrect put stateme”
@ Statement 113

56,

Recently which one among the following
committed up to & 25 billion for the next five
years to fund India's infrastructure creation

under the Prime Minister Gati Shakti
initiative as well ns

% gocial development and
climate action, thus aiding India’s aspirations
for green growth 2

{a)  Asian Development Bank

(b)  International Finance Corporation
{e)  New Development Bank

(d)  World Bank

‘Large  Language Models’, sometimes

deseribed in news, can be used in which of th-e
following ?

1.  Creation of reimagined search engines
2. Health care

3. Software development

4, Translating a language

Select the correct answer using the code given
below :

{a) 1and3only

(by 1,2and4only

(¢) 2,3 and4only

(@ 1,2 3and4

57. With reference to the three types t::t‘ carbq;n
emissions from companies, consider the

following pairs :
Emission Examp_rie
1. Scope 1 . Emissions as a reault_ of
. emissions employee COmmu mi;
business travel and was
produced o
‘ecions a8 a4 resu
e2 - Emissions s
e 10NS purchase of len?iﬁg
e steam, heating and co0
for own use s
-sajons  irom
3 . Emissions s
2 Exnﬁ .3 5 mnsumed y :ﬁeapsq,
emission <ehicles, OW ned an 8
above pai®
Which of the
mat.ﬂhed?
(a) 1 and 2
by 2 only
¢y 1 and 3
(d) 3 only




53. Trfifaa et 9t foreme HIforT :
FYT ] :
T wwgn smOd Sferw Afad IR H
st wtar & |

FYTIT g
7T & FTRT F TAF 291 HI HIAAT Slell

YT &t # |
39 HeEl & weed § Frefofaa @ & HA-41
el 8 2
@ FEAI R HeAI JET @@ & sk

FYT 11, 97 161 G8 =arean 2
® HHI Rk wyAn I @d # ek

BHT 1L, %o 1wt sqrem 757 2

56.

BNYF



i

58. ‘Quantifieg Do

Catic Min; for the
generally ¢ Minim _ z 25,[”]{} 0
alked aboyg iy, th Um Top.up Tay s |61:  Overhauling expenses ot petter fue
(a)  Global Anti-p & s oty engine of a motor car 10 get
o e ase Erosion Rules efficiency is :
ni :
9. of Mﬂl’lﬁ}r Laun dew (a) Deferred revenue e:{penrhlllfﬂ
; rin
(¢)  Regulation of Crypto-curr = (b)  Revenue receipt
en '
(d) Virtual Digital Ass = lc)  Capital expenditure
i I‘TE"“‘LSE'L':'l;iicn'zs d) Revenue expenditure
L E L 1 E
I Which one of the follows: 2.  Which one of the following statements is not
describes the term P g Statements best correct 7
TOWess,,’ sometimes seen (a)

in news ? Depreciation is a non-cash expense.

(b)  Depreciation is the process of valuation

{E-) A EPEﬂial"PuranE supercomputer withia of assets,

: (¢} Th ' SR
i hardware architecture dedicated to a Em.z tn;:m Eﬂujsf depreciation is wear
I ~ single problem RN
' W 4 5 (d) Depreciation must be charged so as to
. (b) A database of the financial performance ?jsce:rtam brije: pRofik, orciloss of 4
- Y i R T O R " 5 U.E-!:'I'IEEE.
3 L et L of companies that is specially designed
o q ; fﬁacaﬂema 63. A credit purchase of machinery recorded in
© " A computing machine that uses thie Purchase Book instead of Journal Proper 15 an
: 4 R 3 . f:
4,5-;'".“_[‘31 Hes of gquantum physics to store gaamplo g

(a) Compensating errors

(b) Errors of commission
e 1n which collection and (¢) Errors of principle

:.;'_-:f"g'ﬂ_;g;ﬁg,;:-is done on user’s system (d)  Errors of omission

@4, The practice of appending notes regarding
contingent liability in accounting statements
is pursuant to

Jetim »s mentioned 1D news, (a) Convention of consistency

| (b) Money neasurement concept
oo b (¢) Convention of conservatism

e e R R ; uvgmaﬂﬂe 1 ;
h l’ 8! ___ 31°C EDIPDI'BW 2 @ Conv ention of full disclosure

be classified as -

=
# A

St T | ion Green Bonds g5, ‘Outstanding rent’ may
Iﬂngadﬂfﬂﬁﬂnsovermgﬂ : tech {a} Natﬂ]‘ﬁl pul‘ﬁmlﬂl '.:'l,li,f{'-ﬂl]“t

(¢) Concessions and tﬂx‘hﬂlida‘?g e (b) Representative personal account

¢ :
| _ :
tartu companies : (e) Real accoun
s P . certain categories &) No inal account
(d) Special Pﬂﬂlege:.inanmal [nstitutio?
BNYR-U-GAT
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58.

" .'J (a) Afrgs gfasnur &0 fam (
f ul-dg e &od)
r.f;' (b) HA-giga (et @i-sfan) el THATH
) (@ frtagz =1 fafma
e ff -' (d) STt sifm uftEufy AR (adsTe
_":“ il fefsreer e grtad)
I. J{ 1'
& 59. Fifufas § @ #gr & wuq F-wdl
I qUET § 3 AT Prowessy, U5 1 HATH
| &9 H gt quiq 2 ?
(a) fpefl wpa mwen &1 gefia gEaE

......
i

61.

62.

(c) w =4 Eene;
(d) TSEE = )
fafafiga d & -3 v {‘m
)
@ TEEE T RAIT (p, M
(b) HeFeE SRR % mﬁ;;
2 | g
(c) BT H T 0 gy h
wEe R W
(d) HeIBE 1 AT quriy gk
aife et smam & E"’%ﬁﬁq:hh (a)
o 1 AT

(b

(e

(i
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() 134 s
(b) 133

(c) had 4

(d)
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75, An ice cube wit
Etght- ﬂl‘nal];_-r Euhlﬁ i -H'ide i

B

a oo

. 5 divg
(217 Vi z
Which -one, of the ,f ?]Mh With Ba:e:d i I V1 board
correct in thj Slowing & Side, ard of a ¢o : ;
v thig COntext 9 B *‘tﬂtﬂmems is Superseded o kept u“'?:;‘rﬂ?:e s-:yc?&t:r_ can be
(a) otal volume will ; 1. There i it Bpension if -
L L e
surface areq o), de:::-SfﬁaaE and o4y of duties, - ™ e Performance
5e
(b) Total v - : 2. There i
surface me wil decm&ae a interg :Hfany AcL prejudicial 1 the
%i area will INCreage fd tota) mem\i . the to-operative BoCiety or its
. rs.
(c) Tt:ﬂ!;]ai volume wiy remain the 9. The body has failed
total surface areq wij incregs, Sme ang ° el to conduct elections

2 in accordance with the ta
N (d) Total volume wi increase anq e State Act, Provisions of the
o tal

the same, 4. There is no Government shareholdings

or loan or financial assistance or any
e guarantee by the Government,

ments . £
the attendance of retire regarding Select the correct answer using the

d judges at sitt;
tings of below :
the Supreme Court of Indija is/are correct E (a) 1and2only

1l Art:iclla %23 permits the attendance of (b) 1 and 3 only
retired judges at the sittings of the {c) 3and4only
Supreme Court.

: : (d) 1,2and3
- 2. The Chief Justice of India may at any
time request anyone who has held office | 78. Which of the following statements regarding

76. Which of the following

code given

: as a Judge of the Supreme Court or of a the Member of Parliament Local Area
F? High Court to sit and act as a Judge of Development Scheme are correct ?
the Supreme Court. 1. The nodal ministry for the scheme is the
The Chief Justice of India may at any Ministry of Statistics and Programme
time, with the previous consent of the Implementation.
President of India, request any person 9  Funds released under the scheme are
who has held the office of Chief Justice non-lapsable. .
of a High Court to sit and act as a Judge 3.  The role of the Membfer of Parliament is
e supreme C limited to recommending works.
e i sch is confined to the State from
 The Chief Justice of India may at any 4.  The scheme i

21 o

which the Member of Parliament 18
elected (Lok Sabha). However, &
Member of Parliament from I'j‘.;lu:.-u
Sabha can recommend works anyw gre

time, with the previous consent of the
Présidﬁﬂt of India, request any person

-. office of a Judge of the
who has held the and act as  Judge

Qunreme Court to sit in the country. i
Sﬂp?e]; me Court. ¢t answer using the code given
of the Supre e code given Select the corre

SElEﬂt the correct answer using the helow :

below : @ 1andéonly.

| (b) 1,2and 300

(a 1 and‘; (c) 2,3andé only

{hJ 1 ﬂ.ﬂd (d) ]'2,33111‘.14

(¢) 2and4

(d] 1 mﬂ}" ( 23 — D }
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2 |
(¢) ﬁ%ﬁaﬁﬁ@?ﬂﬁﬂ?ﬁ‘!@i

HAFH "G |
(d) P HEAA qT AR Fo gEE AIRA
E# F91 B |
76. HRG % =AW AAEE F dwi § darHgd

=i 61 sufeufy % way § frefafea @ 4

ST/ HUT TE 28 ?

1. 393 128, I=aH A 1 doH |
aaxgqammnﬁﬁaersqf&:ﬁﬁmaﬂ%
et & |

2. YA %1 e <l fed ot ww fE
i, Sl I=ay =EeE 9 3= A i
2 % w9 4 vz gw 9w 2
S =TT il d93% H g B 3

FEh AT F T FE W F oy

W HHA ¢ |

3. WRA %1 §&7 <Al e oft awy, wma %

Tafd 1 9o wawia &, B ot safs @,

- Sl R 3 e ¥ g el ¥ ey
AW G 3 gH 2, = e 6
T mﬁﬂwﬁwm@ammh
4. 9T 1 9CT =g e f gay, wwg ¥
TSR #1 0 wenta 4, fd @t 1
ﬁ;-ma.w%wmm%mﬁqa

ST I R, IAW e i 5w

Wﬁﬁsﬂtwﬂamm%mﬁm

ﬁ_ﬁéﬂqﬂwmumm%l

T 2 T YT F7 )
(a) laﬁIF Fﬁmﬂﬁq
(b) 13k 3
(c) 23k 4
(d) ":‘h‘qaxg
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fapeft mEarl EEEL T ATE F gify
afe . =" s
i ﬁﬂmﬁaﬁmﬁ-ﬁaﬂam%l

; LR - (P
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3. u& Fem = sfufeg 3 Tras
SR e 0 o g

4. Hﬁﬁmqﬂémm%mh
forcfler wmre a0 o M gy

it T8 T e T ST H G I gy,

(a) Hae 131K 2 I?'

(b) hae 131 3

(¢) Fad 33N 4

(d) 1,23 3

ﬁmmwmmmam.

Fefafed @ S & s an s,

1. 8 AN ¥ U Ad dm o
mmﬁﬁnmmmm

2. wm%mﬂqaﬁﬁﬁmx
Bl |

3. WEC W H v fuim a0
STV T o wHifa 21 2 |

4. W A IW T % dfE o
V& 9 W wewm fife @
@ (< ) | qunfl, o @
W%ﬂﬁﬁiﬂﬁﬁmmﬁ?ﬁ?
L Tl 2 |

A= f TE e = e o g e SR

(a) Had 13 4

(b)

(¢)
(d 1,2 33K 4



t-'ld:im‘__.n
3 developed by, Bia el Slonal pg,,, T
Programme d Nﬂ:liung b dex | 81 Which N
Ri 15 Megg evelop, ; one of the' followin i
urement of ent in the Re h B was not provided
1. Nutrition (@) 1 Swlating Act ot 17787
X U made the Preg
; - : swidency  of  Bengal
il 2. C"—‘“kmg fue] ;';5:;—““—‘. over those of Bombay and
3 Assets pt.-an::na ' matters reloting to war and
()  The te .
?1' he tenmuare of the Governor-Ge 1
4., Schoal attend anca his Councillors was fixed u:a ﬁ-:-:i:::\rjn“
¢} The § | RN
Select the corre : e oupreme Court of Justice was
ﬁ ] . ct answer using the Soda giv established at Caleutia, 3
below : Eiven (d) The Governor-General-in-Counc: -
. s ernor-General-in-Council was
e authorized to appoint successors to
(a) » & o and 4 Bombay and Madras Presidencies.
T (b) 1,2 and 3 only B2. Which one of the following statements about
the Government of India Act of 1935 i 1
(©) 2, 3and4only Syl
correct 7
(d) 1and 4 only {a) It was an outcome of the Round Table
Conferences.
! (b) It provided for the establishment of an
‘Which one of the following was not All India Federation.
recommended by the Dinesh Gosw S (¢} It retained the authority of the
Co ittee (1990) ? Secretary of State over the Government
Committe ; of India.
- (a) The appointment of the Chief Election (d) It introduced the provision of Provincial

Commissioner should be made by the
President of India in consultation with
the Chief Justice of India and the

Autonomy,

83, Match List 1 with List I1 and select the correct
answer using the code given below the Lists :

List I List IT
Leader of the Opposition. (Congress Session)  (President)
ey : ' lection A. Lahore Session, 1. Madan Mohan
‘The mﬂmbﬁl'ﬁ of the_ t,e{:;:‘: the 1909 Malaviya
‘Commission should be appointed by ; B, Calcutta Session, 2. Raghunath
President of India on the advice of a 1911 E{a?}jﬂ?l?:r
TG : . ] 0
Committee, consisting of the Prime gl
s d the Leader of the C. Bankipore 3. Bishan Naral
‘Minister an ' Session, 1912 Dar Nath
ik B - 3 a e
'ngomhﬂﬂ- YiiBavoa D. Madras Session, 4. EE;EJLndﬂ :
o Y . . cess shou av 1914
(©) The consultation pro ;
statutory backing. G“d: 0 D
: lection 5 4
; the other E 3
(d) The appointment ;f 1d be made 1D EE; 1 9 3 4
. Siﬂnerﬁ shou . . ¢ J 1
Commissi with the Chief Election ki j : 1
oA s Chistousies ol IBE ()
Commissioner, n
Leader of the OPPO™
&ﬂd the ( 25 — D)
BNYR-U-GAT
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v famra FEmA W@ et AR
79. IFE T% a7
M,Tﬂiﬁg@,ww

T L e
2, it W AT 36

3. et
s e § Iofeafa
13 oy 1 e w1 e e I
(a) 1,2 334
(b) A 1,230 3
(c) e 2,33 4
(d) I 13K 4

82.

80. f=foifiad # & -1 wh, feaw mear |fufd
(1990) g SuiTaa 77 fepan 1 & 2

(a) g& fafem smgw @i fafe W@ +
Tgfd % g, WRE % ged =rEfd S
e 3 3 5w & 1 S e |

1 C r I

(b) ﬁaﬁam%m@aﬁﬁgﬁﬁm%
Tl % g, waE A i wRe
iEﬂ‘ﬂ“ﬁﬁaiﬁtiFﬁ‘aﬁﬂﬁ'dﬂ geme q
ST fee |

) et SfE ) wifsfes we e
SIfRT | |

BB‘

M}émqﬁﬁhqﬁﬂﬁﬁ*ﬁﬁﬂ%fﬁmﬁmhm

BNYR-U-G AT

(24-D)

B81.

o ﬁﬁ%ﬂﬂaﬁﬁm 1773
721 TR T o1 o %r;,.{

tre # I9EY
i W= |
(a) g;gaﬁgﬁaﬁaﬁ qat“?i% 79
oy B EETI == %:,_
m_maﬂ?m -
@ qfaﬂéﬁﬁaﬁﬁgl ?ﬁh‘f‘?._

(d)

sy R AfufEm, 1935%3&;&%
# § S T B Tl T Ry

(a) I8 e 79 afwel i dhomy o
(b) FWH A IS B R o

Iuge TR T 91 |

() FEA el I R F ity 5, 8
R 8 FYL S0 T |

(d) ¥HH ST Tl H WY i,

T |

gt I 1 = 10§ gafea il sy

dTﬁ“ﬁﬁlﬂngiﬁz'aﬂ'gﬁhTEst;ﬁﬁzﬁﬂ;#-
gl 1 gh
(AT 3eEsr) (37e787)

A. @R AfEsE, 1 " nm
1909

B. Sefehel AfMEyE, 2. Y R
1911 E‘Lﬁm

C. Sfhi 2ifEsm, 3. fasm Twm?
1912

D. mgr affeasm, 4. U U
1914

%

A B C D

(@) 1 3 9 4

(b) 1 2 3 4

le) = 4 2 3 1

d 4 3 2 1



Bhonsala M;y; the
@ V itary o, folow;
-D. Eiav;lrk Schog) ::‘“H it
() MR Jay,, Nashiy 5 20 the
(c) NC Kﬂ"k,.l Hp * | BR, M[Ht:h Li
{d) B.S, Mo 1Lt' ANgwer :;: I with List i
Olje o ing the codo m‘:lm\ solect the correc
: Arrange the rp“u;:. pi on below the '! e .Lt
with Pﬂ"dit 1h1i~ﬂw' i taipmn) {-;#f I.'; :
; M inir < + Recovary (Legislation)
chronological orq Adan eventg Officer 1. The
1 F er; start; ohan RE80cigt, 5 B © Industrial
. :}L.tnding INg with ; Aaviyy ed B. O {;“:Iﬂ":;m“m [Stands
Universit of  the he earlje o © cO9mpulsory 2 ~REErS) Act, 1946 =8
2. Formal: Y, Banﬂl‘&s I*“- : . Insurance - The Minimum W
Fart}rdtmn of the o Hindy, C. Scheduled . Act, 1948 ages
5 F ; }ﬂngﬁ;ﬂqs N I'Jn“]l“:lrn“inl_ et I-;‘I!'I.ii' P’_”'"‘U:nt of
3 ﬂ'undlng T ationalisy D. Subsistence i sratuity Act, 1972
I.:Eaders e hﬁgligh G ."k"uwan,_.& ! E’li.' Emm“yqu,
4. 2 Bpaper ¢ rovident Fun
Founding of the g wE The Miutf-u;‘:jui;nd T
at Allahabad indu Boardj Code : Provisions ,\:L 195
Select the correct ng House ﬁu L
below : answer usir B G
(a) 3-4-1-2 given b 4 5 2 1
(h) 4-3-1-2 & 3 '"f; 1
(¢) 4-8-2-1 (dy 1 3 *2 4
¥ B89, An %
{'dj 3_4_2_1 = Bdult worker who © o
1% January, 2022 in a fact $38%50ined o
« 2 ¥
86, An employee shall be 220 days during the }'{?arc]::} :nd worked for
provisions of the Pa covered under the 25 days as per Standing i:f :1"’*“ laid off for
monthly wa yee be drawing a maxim : shall he be entitled t S
ge of : um year 2023 7 ed to during the calendar
(b ; -
: ) Rupees eighteen thousand (b)y 10
¢
) Rupees twenty-one thousand © 12
(d) Rupees twenty-four thousand (d 11
87. i 1 ﬁﬁl _{&S E-r 5 - v
ise minimum rate of remuneration which shall Empfuym::"f: 4%1‘0?'5?0“3 e
applied to an employee working on piece tandi g Odeny) et 500
work fi . standing orders shall come in atinm s
or the PHFPDEE {',If securing to SUC}I the e : Lo ﬁ]pﬁ'fﬂt!un after
employees a minimum rate of wages on a time vhi 11: L e days from the date on
' i S L l{: it 3 -
work basis under the Minimum Wages Act . f-ﬂplﬁﬂ of the order of the Appellate
1048 15 kaowi 85 ’ uthority are sent to the employer and to the
: trade unions ?
(a) A minimum piece rate (a) Seven days
(b) A guaranteed time rate (b) Tendays
(¢) A minimum time rate (¢) Fifteen days
d) A guaranteed piecé rate (d) Thirty davs
BNYR-U-GAT s
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: & gafem FIR0 o gy 3
= Ei{aﬁﬂfﬁﬁaﬂﬂm“mwﬁm: : 84
g 1 gt 11 s
) TR, T A. Fgeh 1. s friem (s
(c) E‘Fﬁ-w stferaTdt armewn) fufEm, 1946
@) um. g+ B. sifyard dftar 2. =gaaw weed sAfufem,
4feq med Higd Wy @ wét FEfifea 1948
" ol 9, W v T A TE D, C'Wﬁﬁm 5 Ewmﬁﬁm’ ¢
FPICTshH § weafed T D. frafe war 4. st wfrs fifty sk
1w famg favafaerer & e shiot suey srfafrEm,
2. HiNE U ga (W AwEfRE ) 1952
CIRCE ®e
3. 3t sr@eR e fiet i geyraa A B C D
4. gomRER | fawg Sifdn g #i demgar (a) 4 3 2 1
= fou e e &1y W ud I g (b) 4 2 3 1
(a) 3-4-1-2 © 1 P 3 4
(b) 4-3-1-2 @ 1 3 2 4
(¢) 4-3-2-1
(d) 3-4-2-1 89. g ‘gzsﬁmm{ %1, e 1 s, 2022 =
; H HRETE R 2 o ad % A
86. fobdll U= & Tergll wem sifufrm, 1936 % 220 21 % fem B, Tl smw ¥ ET
EYl & o W F fow 3w srftrray % 2N 25 27 % oo wwed wE v 2 | @
e #7gfl o g R 2 HAVS A 2023 F A Fe Bl A e
(a) UZE EAR T9U Hied et H THE AW 2
(b) SI3NE &I &9 (a) 9=
(c) FFHIE FAR 9T (b) 10
(d) +Iefig FIR 9T () 12
d 11
87. =R wagll sifufem, 1948 % anflm, W@
mﬁ,a’rnﬁ@wﬂw;q{ﬁa‘rﬁﬂaa 90. ;ﬂﬁﬁmﬁﬁm(wm)aﬁ:ﬁm,w%
FICITI B % MR G Al 7w 39aYl % IR, FEme W ik Y b
YR 0 % R % fore, S 37 s ®l it TRER % omw & whed e
BB G S A S A -
FEard! 2 9 ; ST T § S 2
(a) anﬁqwmaqm
{:) ’Slfﬂ*l@ « (a) 9@ f&
© g (b) 7 A
PIETIFITCT 3T :
@ S T o (c) g fam
BNYRAUGAT (@) i feA

(26-D)



ow MANY mar .
i al Gg 0TS g
th rnm&nt to th_he nﬁm:in&

urity Bo teq
Secl‘ganisedardwaa Per the  Nationg o ™ |og
Uno 9 “Tkera' S _prm"iﬂiu:]_a of =
2008 * Ocig) Securi the
(8) Eighteen ty Act,
{c-} NentY*Six
@) Thirty-foy,
“th{:h ;‘:E- of ﬂ.'.tE fnlI“Wing
Cl g
ﬂ.ﬂt a : a.l S-eeunty SchEm& am&& 15
Unorganised Workay Socia] Under ¢,
2008 ? Security 4,

(e)

_}d)

It makes Provision
im:ludjng

for pengion scheme
family pengion.

1t Makes Provision
Deposit Linked Ingy

The Provisions of
applicable

for Employees
Tance Schﬂma_

the Act shall not be

to  Cooperative Societies
employing fifty or more persons working
without the aid of power.

‘The contribution by the employer to
Fund shall be on the

the
basis of the basic
Wage, dearness allowance and retaining

allowance (if any) of the employee,

| 96. In a desert, X and Y are two spots that are
separated by 100 km. At point X, are placed
two pﬂia.rs‘, one black and one white. Along the

line joining X and Y, a white pillar is placed
for every 180 m and a black pillar is placed for

every 350 m. How many times can one find
black and white pillars together while

traveling from X to Y ?
(a) 14
(b) 16
(c) 16
(d 17
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| 95. wﬁﬁfﬂ“ﬁ“ﬁf?ﬁ@““’%
1952 % ST TR Wy )
By

H’fﬂ#%q 9l
(a) Wﬁqﬁaﬂ@%ﬁ“%*

: mﬁmw%l %?}.:
wﬁwﬂﬁmﬂmﬁmﬂ
WWWW%I %1
{C] ggazﬁxﬁﬁ“%mmﬁaﬁ%

aﬁﬁﬁa’rﬁmiﬁﬁﬂﬁ'ﬁw@#

o w7 & | 4
() ‘sﬂﬁﬁ‘ﬁmﬂ”“’m“&‘mwi

WW* Waﬁ{%m

(b)

(afg s R) 5 STE T |
mﬂmﬁﬁaﬂ,}ym%mﬁaaﬁﬁﬁﬁmﬁﬁm
&1 2 ;
(@) i e fify st s |96 R wf H, X R Y Q@ Ty ¥ gy
(b) T Aferpror 10(11%%&%%\%3}{%&3@}‘3
(¢) 4H 3T stfu=o Fren 3 TH dhe, Es fHu M ¥ &
d) s FfEw Wl Sigd drelt W W, T Whe '@
Hiet T IR TH FHTEAT @ TST 350
94. wgfa vgfawr sifefam, 1961 % 39adl & — 3] WTE'“W{
s, Ao w0 A AR AR @ T O PUTUR | X HY T I
¥ A ¥ fau ygfa ygfew % w9 & fem IR H AR The T T 919 @ e
gt 2 ( (a) 149K
@ S (b) 159K
(b) 9N GHIE
(c) WIeTE HHIE _ (0 16N
(d) : ' .
TR et (d 17sR
BNYR-U-GA |
T O
2 yLo lﬁ&




F- Q. R-r Sr T }]_nd
v i I ] x =
TEP gt the if_nﬂgv‘;ng 15/arg " BIX frig, .

}-.elﬁh S 0LS and o E‘uﬁicienl l'.ur Whi.r:h of
1. R 15 Shl:l[“’tet- ti}{u L

friends. ' Phut ta)e . Protoco) * following 14

UV is tall £r I.hﬂn oth { : not A security
2 €r th s |

* K.
although @ is an but g OFter 4, tb)  sgi
the friends ¢ the Ortpgt S .
ampn € IPgac
gelect the correct answep using 4, d) MM
pelow < ode g; E
Biven
. 1 alone i -
(a) s sufficie 03 '
) 2 alone is suffici . * HTeX document doss not contoin:
y Both1and2 o ‘&) \documentelass(article) |
" - H
(c s are not sufficient ()  \begin{document)
@ 1lan 2 together are sufficient (e} \end|
n end{document)

Eight chairs are placed at 5 S dist (d) \documentstylelarticle)
ance

from each other around g round table. C and p
. i |

are equal distance away from both A and B: B e e g 0als

sits between A and C; G and F si
’ Sit opposi (a) 0812

each other. Where does H sit ? pposite 2

(a) Adjacent to D (b) 08123

(c) 0-8124

(b) Adjacent to A
(¢) Adjacent to F
d) Adjacent to G

(d) 0-8125

104. In a worksheet, which one of the following is

A. B and C can individually finish a job in 10, b ot & 5ol relorening styie?
15 and 6 days, respectively. If all of them work , \
together, in how many days will they finish (a) Relative referencing
the job ? (b) Real-time referencing
(a) 2days (¢) Absolute referencing
(b) 3days (d) Mixed referencing
(c) 4days
@ oLhE 105. Which one among the following is used 10
' : s and libraries
A dice is thrown two times. The numhe;:l G: combine several UEECtr:;ii:E:
' 8 i table progrant -
ways that the npumber appearing oo the c{b:'l ; to a single execuia
throw is not less than that on the 58 (a) Interpreter
throw is : () Compiler
(a) 15 (@ Linker
o
¢
@ 36 (5=D)

NYR-U-GAT -



e ) S7 |
97. p Q. R, S, T 3 U or fim & | Fr=fefaa # 3
AraA, 8 3 T B Al € gerdn FE &
fere qafa &8 7
1. R, P& ud i o 8, feg o fl &
o # |
2. U QH =, fieg s & cand § oFe1 2,
:Uﬁl%ﬁa‘f%aﬁaéaréﬁﬂﬁ'ﬂﬁmqﬁ
t
13 RY 2 gz 1 i ) e g
(a) USHAT 1 99fg
(b) UHHTT 2 ymfg
(e) lsﬁtzﬂﬁmqﬁ%

{F{I‘aﬁtﬂqmmiﬁww%

98, mmﬁrﬁﬁﬂﬁ%mm@ a
wﬁqu{g,lﬂ,ﬁﬁ:(c%mﬁaa

?:G ﬁtpqa;_ 3 X
Hetentnl mmﬁ o
@ DFdmams ()Y e
e £ (b) A%mmﬂ
fl X (¢) F& d% ame i 1
v @ GFIwamd & § ©
99. A, B 3N C Se-sremt et w7 1 oy
15 37 6 Rl § qu 7w 1 3R 3 el v
ﬁ?ﬁﬁ'ﬁ:ﬁﬁ@mﬁﬁg ﬂl-”a =
(a) 2fe=i% . {{ffj
(b) 3 feqi § f.-:f(b (="
() 4 fai 4
@ 5 f&i 3

100. mwamhm
ﬁﬂ@mw%aﬁgl@ﬁﬁ%mi

(30—

D)

101.

102.

103,

104.

105.

| b

a8 TR T T gt
g7
(o)
(b}
(c) TPsec

(d) MIME
; * Zr ?
LaTeX @il § 41 IS 72T 2

"Ldﬂcumentﬂlass[articlel

TLS
SSL

(a)

(b)  \begin{document]

(¢) \end{document]

(d)

(-1101), =1 gHES TGS 1 AP
0-8122
0-8123
0-8124
0-8125

\documentstyle{article]

(a)
(b)
(e)
(d)

fodl wiste ¥, oo 3 3 A
i et (fet T wereer) 727 2 2



108

109.

110

111,

An incandeg,
S, e
power that g . & 22 ;%8s

8 i Powea at
b 100w 'R the by Suply, OV |4,
(¢) 200w numhﬂ: B A whi'ﬂh of 1y antd of
: !'I‘l:.’ii;p : Lo T‘-"!'lnw'm“ inlare alem ' :
{d} 4':'“ w B anh“‘ﬂl‘if o on L,'l',ﬂ]iﬂ'--

Eh&ngﬁ?
i rt}:ii l?ngth °f & cury

vea, 10 :
he nt i e ven Dﬂtsm‘ ArTVing
curre in the Wire woul Ntia) {-'liﬂ"eg Wirg ig
(a) be doubleq ag T
() be halved

(¢) remain unch angeqd

Indig Will reach

i : Y
: g e non-foasil enerk.
“apacity of

" 4
y S00 G by 2030,

Indin ;

w =

. ; il meet G60% of s energy
“quirements from

2030, renewable energy by

Select the correct answe

{C” become ZBT0 below g T using the code wiven
la) 1onl
Cljrstals of copper syl ¥
: phate
heating, form : pent’ahﬁ'dl‘ate‘ o (b) 2 only

(c) Bothland2

{3) blue colour salt
(d) Neither 1 nor 2

(p) white colour salt

(¢) green colour salt
(d) brown colour salt

113. What are the prerequisites for declaring any
area as a ‘Scheduled Area’ under the Fifth
Schedule of the Constitution of India ?

Tartaric acid is found in : 1.  Preponderance of Tribal Population

(a) Tamarind 9. Compactness and reasonable size of the
(b) Tomato area

(¢) Orange 3 Economic backwardness of the area

(d) Vinegar 4. The notification must be issued by the

Which one of the following is an example of Governor of the concerned State

chemical change ?

Select the correct answer using the code given

(a) Melting of wax helow :
() Heating of iron (a) 2and 4 only
(¢) Dissolution of sugar in water () 1,2and3only
(d) Burning of magnesium in air (¢) 1and3only

dd
A wing is mot 2 (@ 1,23an
Which one of ﬂ}e f"-’_““ ed from

* ; t
Wm]ﬁnﬂlﬂ? g The Railway Budget W -
R vis Commission 114. wing 0 !
. onal Human Righ ed eral Budget? :
tional : Schedul Gon tion of 1929
— Commission (g) Distributive Conver £1924
T E 1 0 ‘
.ncﬂmentmn :
eor Backward| S‘*pﬂau-ﬂno gatimates of 1924
(¢ Bifurcat _tion of 1925
I R




106, 110 V 9T 100
ey 920 V fgd TRE € T
21 greft wifen @ B 2
(a) S50W
(b) 100W
(c) 200W
d) 400 W

108. HR T Yererede ¥ Feteat quTg AH T H
91 8 2

(b) F&T TT &7 A
(c) B T+ a9
(d) R TT FH GG

109. rfe 3 forad grar sraT 2 2

(a) ZHEA!
(b) ZHTH
(c) au
@) e

110. fr=fafiga 7§ @ a1 o, TarfE afEadT #i
JSTET 8 ?
(a) B9 1 fgemn
(b) IR HT TIRT AT
(¢) 91 # =fft T gor
(d) Bt o Ay & S

111. f=fafas 4 3 '
S HA-H UF, YR ¥ wifumi
(a) TN o9 ARHR s
(b) TS gl S
(c) T et ot arpiy
@) T SR s

113.

BNYR-U-GAT

(32 -

D)

114,

A FT
5, ~ W 2030 T ST
50% FeENd HT | QU Hay | -

3 fo 0 RE F T HCHE I gy
ad 1

shaol 2

]_:-;1’1'7(22'37'Fi

gt 1,98 2

(a)
(b)
()
(d)

A= o T F2 H W F G IR e
(a) haet 23R 4
(b) Hawd 1,2 3N 3
(c) whad 130K 3

d 1,2 334

8% SR It a9 ) a7 For QI
1 9

(a)
(b)
(c)
(d)

1925 =1 e gaiem
1924 T Yshar qReH
1924 %1 YTeFehemt o1 feumeH
1925 BT GHshIt I



A

: which of the
." ]1|- T_h{;" nﬂl'l-l_ale.ctriz l{]win
-~ ureau of - Cooli Slage
5 Epve]nped Indian &::ﬂl’::‘gl ;:ahi;:‘-ﬂ“ﬁg req
- 2 da s op o Bard;
]S 17693 i 4 arn l"l'_]s_ B T whi "'Iﬂ
¢ 5 2“22) s [n{l'r IH} hn h‘ch t-h-u 11&"‘ U“ﬂ
1. It is 1 lbfﬂrﬂ o lan rﬂ%hl] 19 er the rCvis; .
primari at Orrect 9 Stang ¥ .m‘. which bvisions of the Factories ACh:
Hr:]}, Ural ard roelaty one of th . .
milk a 5to mf‘rigﬂ of th g o the appo; iy Cs ﬁtﬁ.f_[:‘l’!"l['ﬂt:‘
o nd g e veget LT L (a e Bits AWW“F f“"“}mbnl of the Chairman
2 -‘.-E standg d“" co Hng'wahh ! rmr;:’h. i 'I_.:atm,dr”u:‘]:_‘e‘f_ﬂmmltuu is correct 7
;}]UL E;r 1 Unit]:,lzll“q Bis ?m () ihmr"fmn_ sgioner of the State is the
L= ] n .
Velopment Go N&Linns ‘li'--‘ll'll.'ii“E 6 I."t?- “‘:“]'-"DEI'!L'.QM person | .
gelect the correct 4 als. Sustainah) (c) ThL Chairman s0n is appointed a8
. NSy . £ e a*
below : er using the o paour Minister of the State is
(a) 1 only code given (d) The (":’ Chairman. State is the
e Lhief Inspe
(b) gﬂnlj-’ Chairman, ngpectar of the State is the
(©) Nﬂt‘h 1 and 2 119, Mateh List 1 with 14
(d) either 1 nor 2 answer using the tt:;.:; u and select the correct
16. which of the followi List T given below the Lists
Lt e e o Provision)  (Aet).
3 C SIah A. Displs 2]
migrant workers i ontractor to Inte to he Displacement 1. The Factori
S n estah]jm connection wit} Lhr-smuj > Allowsance {845 actories Act,
shmen 1 the work . Certifyi ;
Inter-State Migrant Wni:-k to  which the Eurge};: 3 % 'E.,:I h:mim“‘“ Wages
1 rkmen (Re : C. { : 1, 1948
Employment and Conditions of Segrl:rli?mn % E:’if-muntmy 3. The Inter-State
e) Act, yment Migrant Workmen
(Regulation of

1979 is applicable ?
1: Equal pay for equal work irrespective of

Employment and
Conditions of Service)
Act, 1979

NYR-U-GAT

sex
9. Provision for suitab
1 i -
accommodation able residential D. Piecework 4. The Employees
g, Provision for protective clothing Compensation Act,
4. vaisnlun for old age benefit scheme Code : 9
5. Prescribed medical facilities A B C
Gelect the correct answer using the code given (a) 2 1 P
below : W E R i
(a) 2,3and5d only ¢ 2 4 1 3
b 2,4 and 5 only (@) '3 4 1 2
© h2fena 150, Under ~the’ provisions of the 1f¢ al
: , Under g [Provisions of the Industna
@ 1 3and 4 only Disputes Act, 1947, right of legal
117. A dispute relating to the ag€ of an adolescent representation before a Labour Court, o
employed by an employer which arises du€ Industrial Tribunal or National Industrisl
the absence of any authentic document can be Tribunal i8 : :
referred to which one of the following (a) Astatutoryrieht
authorities for 2 decision der the Child ang () Not a;jll perrp:iéhl; 1 forum i
: Thitl an Can permi i : ives
Adnleacan:) . :,T;c:sr (Prohibition (c) .;;S:mr Ty doos 1 '+ object or BV
Regulatio c
i, cnnseﬂi ) s
= . iz 3 1 mmsmﬂ
(a) The Prescnbed rmitted f such I‘-'Nl" ik
(b) The Labo
(¢) The Inspe
) The ApproP




(b) Had 2
() Iaﬂfﬂiﬁﬁ
(@ Fdari"E2

ErAEE]

fafea fafecgsha glaumd

f9 fu 71q e H T F FE IR T :
(a) *ad 2,33M 5

(b) Hadl 2,43 5

) 1,2, 33K 5

(d) Fad 1,33 4

117. Bt s g fifse $an 6 g @
geift faare #Y, St feEt T TeES %
3T % HRY IUH AT 8, AT I FAR HH
(st ik ) sifufem, 1986 % aref

fFefafen & & e & wfved &
% o1 ST s w2 2 g e

(a) fafe Fefthea wiftremrd

© ¥ sl ¥ s
@) TR TR P il

BNYR-U-GAT

(34 -

D)

120.

g 1
() (Stfera)
A, fagomed w1 1. PRGN Afufey b
. gHIOTH 2. I WEll afufy,
; yrea-fafehcas 1948 i
C. wemfe® 8. ITISTH Tanh g,
UGS (ﬁﬁlﬁﬁﬁ?}ﬁﬁm__]ﬁ;
qa1-9d) Sy 197,
D. HEEATE 4 %ﬁaﬁmaﬁm
1923
FC :
A B C D
) 5 | 4 3
(b) 3 1 4 9
(e 2 4 1 3
(d) 3 4 1 2

Arenfrs foar afutem, 1947 5 yeas 3
A, Tl o = W i sfmo
T T A e & wnw s
‘Wmﬁﬁﬁﬁaﬂmﬁmm%mﬁmmﬁ:
(a) wfafer stftrepm 2

(b) o swfy 78 & 1 T

(o) AR o= 98 sqafty T8t e = w2
&, Sl I gAY A & 1w R

(@) 3 THEE T F IE AU
W) Tt 7 R, T gty @ w1 E



